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HEBE(FE) E:3:4
oMo 5 (%)

= — % 2,566 18 2,584 778
i w2 A 133 0 133 924
= Bib e 39 0 39 79.7
EiEE A 50 0 50 69.3
a &t 2,788 18 2,806 78.2
=iAH —h& R 12,255 47 12,303 77.3
T3 yE —RBRERATSY 2,321 41 2,362 99.4
3 b-303 1R A 313 2 315 85.4
TE&M EiE A 85 0 85 61.1
N E 14,975 90 15,065 80.1
Vioavls — R 137 0 137 99.5
o -l w2 A 27 0 27 132.3
e yE N F 164 0 164 103.7
ar943 —h& R 4,360 21 4,381 94.0
2= - Z D Hes A 24 0 24 80.4
e N g 4,384 21 4,405 93.9
& i 19,522 111 19,634 83.0
M B %= 7.5 0.0 7.5 97.0
. RIS —RRALT 100 0 100 105.3
ﬁ EtEER AT 3.65 0 3.7 126.2
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E KI5 B & 7.54 0 75 1045
& a &t 112 0 112 105.8
E V i 0.3 0.0 0.3 102.5
EEHRBRUVHER 9 0 9 64.3
E5-FHRFE ZOMOIERIGERE 209 0 209 66.4
a &t 218 0 218 66.3
& &t 22,648 129 22,777 82.3
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